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Instructions 1o Candidures:
Antempt all ten questions from Part A, Jour questions out of eight questions from
Part B and rwo questions out of five from Part C.
Schematic diagrams must be shown wherever necessary. Any data you feel
missing may suitably be assumed and stated clearly. Units of quantities
used /calculated musi be siated clearly.

Use of following supporting material is permitted during examination.
i Menrioned in form No., 205)

1. ML 2. NIL
PART - A
tAnswer Id be giv WO r [10x2=20]
All gquestio compu

Q.1 Explain about zero - order hold sampling.

Q.2 Explain the Sampling theorem for band pass signal.

Q.3 Write the advantages of representing the digital filter in the block diagram form.
Q.4 Compare Canonic structure and Non-Canonic structure.

Q.5 Explain Parseval's theorem for Discrete time sequence.

Q.6 Explain the relation between DFT and Z - wransform.

Q.7 Explain Picket-Fence effect.

Q.8 Explain the application of DFT in linear filtering and specirum analysis.

Q.9 Compare FIR filters and [IR liliers,

Q.10 What do you mean by linear phase response?

[SE1394] Page 1 0f3 [1560]




vin tions [4x8=32]

Q-1 Find the Nyquist rate for the continuous time signal given below and find x[n}-

¥
x{‘} = N4 -.:n m)
i 8

Q2 DFTofa Mquence x(n) is given by-

Xk = (6.0, - 2.0

Determine x(n),
Q.3 Find direct forms ~ 1 realizations for the second order filter given by-
y(n) = 2bcostboy(n - 1) - by(n - 2) + x(n) - beostnx(n - 1)

Q.4 Find the N - Point DFT of the following sequence.

1
h(n) = { 3 for 0 <n <2
0 elsewhere

1 4
Q5 Show tharz(-1-) = zlog (%) .n >0
Q.6 Write the shont notes of design of 1IR digital filter.
Q.7 A causal discrete - time LTI system is described by-
y(n) - E)ﬂ(n -1)+ %y(n = 2) = x(n)

Where x(n) and y(n) are the input and output of the sysiem, respectively. Determine the

. System function H(z) and impulse response hin) of the system.



PART -C
[2x15=30]

T m vl
ive/Applytl

&111 mpt any two guestions

mﬂ' of the following sequence-

Q.1 Derermune the 8-Poant
2 decimation in time FFT Algorithm.

-.0.0, {HJ use in place radix -

sl = {5323

Draw the cascade and pur,#t realizations for the

following system function-

H(z) = (145 :“}[H- - 141 rI]

Q.3 Using bilinear transformaiion, design Butterworth filter which satisfy the following

‘:“".Iili"l-
08 < |H/e®|s 1 0<w<02n

|Hfei®| <02 06m <w <W
Q.4 Compute the 8—point circular convolution for following sequence- .

xiini={1. 1.1, 1.0,0.0.0}

x;fn}:sin(azn) 0<n=7

Q.5 Determine the impulse response of h(n} for the system described by the second

order

difference equation-
y(n) -~ dyin - 1)+ 4y(n - 2)=xin)=x(n-1)
Whese (- 1)=yi(-2)=0




